Ou'\"ime.

\. G-raph of der‘i\ldﬁ\lé‘.
Z £'(xX) and +he gra.Ph of f00).
3 Why decrivahves?

4 Shorl' Cul‘ culef ‘For ‘P‘It\dlf\a
£'(x).,



1. Graph oF Derivative £'(x)

® aoPs. of the ‘l"angen'l' line to
Y= f(x) 9Give! He height of
the derivahve graph y = £(x)

e When we reach
e +op of o hill

e bottom of o vque’/
('(x)-.-:.o,' (o +he derivahive 3-pk

will fouch o~ ceoss the X=axif,

e When F(x) is increasing = Thea
£10) s posil-ive , Y= £'(x) BM
positive height- |

o When F'(x) IS decreasing, l Hen
£'(¥) s negahve , y= £'(x) has
he_gal-'-ve | keijhl',



Example
Skekch « 9rapk S‘Wwing Y= -F'(X)..
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Sieep ne,ah'u
slope of £(x) means .
low ne,a-h'uc hci_’kf for f_{g)'



2. £'X) and the Geaph of
_____._————-—-—-——-—"""—_— . .
Y= £(x)

. -F'(\d . Behavior of y= f{x)

O | e Hori zonkal
| o Top of hill (maxcmum)

. BO'H'OM of v¢“¢y (mmcmum)

+ | Increasing (left 4o
right)

— DecreMing (lef+ +o
Hgkl-)_ |

——

B(‘Ca k or

}'ump

. Missimj peiat on -F(x).
. Sl\urF Corner
o Verkical a$7mp+o4'€



3. Why Derivatives

)Lamp\#.

- How do yor make o botHle
4o hold 500 me (cubic centi-
meders)  of waler Had wes ar
little plaskic a3 possible ?
Solu-"'idf\ .
| |-\-.= ‘\yc‘tgk'}

r = rddias,
Amount of plasrhc

it He surface
areo of the bottle.

Croal : Find h, r Se +hat+ volume =
500me | but fucface acea is



~an sewall s possible,

S = Surface = 2Ti~rh + 2Tr*
oreo. - |



